17

169.0
L=8,079m

9,756m
14,996m

H3

16,900

29.3%

9,805

29.9%

H45

7,095

28.5%

1,944m
22,047Tm3
1,734m
5
2
1
29,000m2

7,812m
518,444m3
13,262m
20
3
2
146,000m2

B/C 107

JR

18

17.77
L=2,300m
3,160m
2,850m

H3

1777

34.4%

1,607,

28.0%

H25

170

94.9%

595m
51,200m3
595m

1

17,036m2
1

2,565m
112,800m3
2,255m
2
2
610m
2,964m2

B/C 18




19

L= 320m
L= 245m
L= 163m
V=98,000m3
V= 5,000m2
( )
A= 1,660m2

2,053

53.2%

2,053

53.2%

91.0%
100.0%
51.2%
30.0%
35.2%

121

30




112

117
L=900m
1,170m
870m 1,171| 51.8%
H3
640| 41.5%
H25 531| 64.2%

190m
4,900m3
190m
1
1
1

14,142m2

980m
27,600m3
680m
1
2
1
458m2

B/C 47




113

L=961
L=2,139
L=195
L=32
A=3,500
232
A=7,900

L=3,310

H8

15,576

31.5%

1,720

35.5%

4m

H22

100
A 7,900

L 434m

1.03

1.98

22

21




501

H4

H11

852

H11

830

1,863,591

1,245,245

1.50




